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QUESTION 1

Given the code fragment:

B> lund App.java % | +
O src 2 interface I {
3 public void displayI();
4q

}

5 abstract class C2 implements I {

[ public void displayC2() {

7 System.out.print(“"C2");

g}

2}

10 class Cl extends C2 {
1 publie wvoid displayI() {
2 System.out.print("C1l");
3 }

l

5

6

}

I gy

17 publie class App {
18 public static void main(String[]) args) {

19 C2 objl = new Cl();
20 I obj2 = new Cl();
21
22 €2 s = (C2) obi2;
23 It = objl;
24
25 t.displayI();
26 s.displayC2();
27, )
28
29 }
Conscle1 ™ IGonsole2  * IComecled ™ IConsolesa %
c1c2

Completed with exit code: 0
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And given the requirements:

1.

Process all the elements of the array in the reverse order of entry.

2.

Process all the elements of the array in the order of entry.

3.

Process alternating elements of the array in the order of entry.

Which two statements are true? (Choose two.)

A. Requirements 1, 2, and 3 can be implemented by using the enhanced for loop.
B. Requirements 1, 2, and 3 can be implemented by using the standard for loop.
C. Requirements 2 and 3 CANNOT be implemented by using the standard for loop.
D. Requirement 2 can be implemented by using the enhanced for loop.

E. Requirement 3 CANNOT be implemented by using either the enhanced for loop or the standard for loop.

Correct Answer: BD

QUESTION 2

Given the code fragment:
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class Caller {
private void init () {
System.ocut.println{™Initialized"”);

private void start ()} {
init{):
System.out.println(“Started”):
}

public class TestCall {
public static void main(String[] args) {
Call=sr ¢ — new Caller{);
c.start () ;
c.init{);

What is the result?

A. Answer =0

B. Invalid calculation

C. Compilation fails only at line nl.

D. Compilation fails only at line n2.

E. Compilation fails only at line n1 and line2.

Correct Answer: E

QUESTION 3

Given:
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A- for (option = 0; option != 0; option = //code that reads the option
goes here) {
/* code that print the option go here */
}
B.

while {option != 0) {
menual);
option = // code that reads the option goes here
/* code that print the opticn go here */
}
C. do {
menu() ;
option = // code that reads the option goes here
/* code that print the option go here */
} while (option != 0);
0.

while (option >= 0) {
mena () ;
option = // code that reads the option goes here
/* code that print the option go here */

}

What is the result?

A. Vehicle Bus

B. Bus Vehicle

C. Bus

D. The program doesn\\'t print anything

Correct Answer: A
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class Player [}

interface Playable {
public void play();
public void setPlayers (List<Player> players);

class Game implements Playable {

private List<Player> players;

public List<Player> getPlayers() { return players; }

public void setPlayers (List<Player> players) { this.players
= players; }

public void play() { System.out.println (“Played.”); }

QUESTION 4

Given: What is result?
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A. Successful

B. Unsuccessful

C. Compilation fails

D. An exception is thrown at runtime

Correct Answer: C

QUESTION 5
Given the code fragment:

21~ public class Main {
22~ public static void main(String[] args) {

23 List<String> arraylist = new Arraylistes> (3J;
24 arrayList.add("Tech"):

25 arrayList.add("Expert");

26 arrayList.set(@, "Jawva");

27 arrayList. foerEach (o -> a.concat ("Forum"}};
Z8 arrayList.replaceAll (s -» s.concat("Group"));
29 System.out.printlnCarraylList);

30 }

31

3Z

33

34

35

CPU Time: 0.18 sec(s), Memory: 32824 kilobyte(s)

[JavaGroup, ExpertGroup]

What is the result?
A. EN FR JP

B. EN FR

C.CH

D.EN FR CH

Correct Answer: B
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public class Game {
public static void menu() |
system.opt.println(®l. Left Z. Right 0. S5top”);

}

public static void main(String[] args) {
int option;
/* insert code here */
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